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X+ 2y =20
x and y are whole numbers less than 10

What could x and y be?

X =
y:
Q2. Amina is making designs with two different shapes.
She gives each shape a value.
Total value is 147 Total value is 111

Calculate the value of each shape.




Q3. Ashop prints designs on T-shirts.
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They use this formula to work out the price for printing a design.

price = 60op x number of colours + £1.25

What is the price for printing a design that has 3 colours in it?

Amina has £5 to spend on printing a design.

What is the greatest number of colours she can have in the design?

colours




Q4. Inthis diagram, the shaded rectangles are all of equal width (w).
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Calculate the width (w) of one shaded rectangle.

Q5. Here is a pattern of number pairs.

Complete the rule for the number pattern.
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19
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